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- Answer all qilestioxis in this section in the spaces provided,

L2

What is agr’ofcbrestry"? ‘ ‘ (1 matk)
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Differentiate betweéen ititetcropping and fixed cropping. - " (1 matk)
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Name four financial documents used in the farm. 2 mai‘ks)
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GiVe four types of micro catchmenté used in the farm. (2 marks)
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. 6. State four sources of soil acidity. =~ - = A . - (2 marks)
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8. Given that a price of Ksh.100 per bag, 20 bags of maize are denlxanded, but when the
price changes to Ksh.80 per bag, 22 bags are demanded, Gpleulate the elasticity of
- demand. R | 1 (bmark)
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10.  Give two ways in which pastures are classified. | (] mark)
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i1, * " State four properties of soil influenced by its texture. (2 marks)
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13, Bixplain the meanitg of the following tetms as used in agricultural economics. (1 mark)
(i) = Productipn function. '

-------------------------------------------------------------------------------------------------

13, Name four practices carried out to improve and maintain permanent pasture. (2 marks)
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14,  List two featutes of plastic pipes a farmer should consider before buying. (1 mark)
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Give four advantages of tissue culture.
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18. A farmer was advised to apply 40kg, P,0s per hectare of maize

(i)  Calculate how much single

superphosphate fertilizerishe s
hectares. | coS -.
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19. State thrge situation when the opportunity eost is zero.
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at planting time. The

phosphatic fertilizer available was single superphosphate containing 20% P,0s.

hould apply in two
(3 marks)
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| 40, " State four st‘ekas of gﬁlleyfofma}tiaﬂ-
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SECTION B:

Define wht 4 partial budget.

- Answer all questiorﬁs in this section in the spaces provided.
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below shows a set up of apparatus for ﬁndmg the percentage of humus
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(i) State the economic importance of the weed Shown in diagram G.Q marks) |
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(iii) Why is it difficult to control weed in 'diagra'm G? (1 mark)

' . » ' 1
........................ ...-....-....-.-.n-;.---o..n--;p ’e o.-qv--.-....-.-,.raq/_yg\g‘yq
........................................................... Fr e e e e reee et e
........................................ L I A AP NN g}.'}-un!enfv”“;“ggsg

.T0p4
- Ash |

- Green

(8  Which type of organic manure js being prepared véboy'é?
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Give the importange Qf.i_nclusigxi ofthe fpllawi_;_ig Jayers. :
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| by @uﬂinethl steps féliowed in catrying out the {llugtrated expefiment. (3 marks)

The following sy
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Spots on

(i) State a cause of the disease.

Cendeben

taey

(iii) State three 00ntro'l‘ measures for the disease.

oo

“Name the disease affecting the crops.

inptoms were noted on tomato seedlings in a farm,
kers on seedlings. :

e seedling leaves.
and falling of leaves.
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'Answer any two qu'es‘tions from the section,
26, (a) Describe five objectives of agricultural tesearch in Kenya, (10 marles)
(b)  Describ ten cultural methods used to control pest. - (10 marks)
o S , .
27 (@ @O at is open valuation? ) ~« (2 marks)
| (i) hat 1s closing valuation? o (2 marks)
(iii) en is profit and loss accourt prepared? : (1 mark)

(b) Preparea proﬁt and loss account ending 31* Dec, 2003 using the
following information. The farm made the following transactions.

Purch ’cd items listed below. , (10 marks)
Items Kshs.
Seed and fertlhzer 3600
Fuel w . 3400
leesto(%k feeds - 3000
Machiwcw implements 60000

‘The farm also expected the following:-

Kshs.5400 for vegetables sold to a neighbour school; Kshs.20,000 fot
beans spld, Kshs.10,000 for milk delivered to K.C.C, Kshs.46000 for
coffee sold to local cooperative society. The farms opening valuation
was Kshs. 80,000 and the closing valuation was Kshs,120,000."

(i), Ipid the farm make a profit or loss? (1 mark)

(i) How much profit or loss did the farm make? (2 marks)

(iii) -~ Calculate the percentage profit of loss made, o (2 marks)
23. w (3)  Outline the role of phéspho_rous in plants. (5 marks)

A (b) Describe the policies used by the government to regulate the amount of importeﬂ
‘ ‘agricultural goods in Kenya ~ _ (5 marks)
(© Dcscril)e ten uses of farm records in the farm. ( 10 marks)




